ANSI
(

American National Standard Institute
)

A«

57

D

2%

( 12m  2.5m 3.8m)

56 )



204 206

204

S-P-F (Spruce-Pine-Fir)

Im

1999 2

3.185

5005

L]

2541

4085

180

970

1684
]

1
3800 VEERT
- :
i ® opma B
g
814 Vo7 LmE

2250

8l g
L. 0 __ | ve
A-A
A, As
L
aZ bk
1
B
| =
i
Al Ay
s o 1385 . 5005 I |
L ] B 10,165 B
B BHERE
2
“3715 BE hAS-b5 —W‘
- FRAZ i b= 4 25 1 1
n-ﬂ-'.rw : ‘/7 2 \\\-4
| PR TuEE
A4
= RERS 500m p =
S TEK wim e
& %# EEA2OR g
#5T34— K Mam
g . =
= O7ZbE SolsTO7 M2WM z
N Fi—Fimm
o SRE 2068405
o VO7REE JRém .
=g EH Ea20X
\ 223 %—F Mam
ECED- s m® EoAzOR
g = b Ha3f- K Bim
g3 o R 2
s s@y 5
AR 18 358455 F
B
_ mamaEam ® HAFTYIO-ULY Bikm
S= KRS F Mim
L5l .
& *{ A 206855
s Frasn T B
8| guy-saz sm == R d £
g g
De—i
_NG. L SERE "
3



-

oM B T

P
&5

TR

5

2,641mm
9,555mm

HEEST)

“ )

)

P E3,624mm, JLIE3,252mm
3,800mm
990mm

A -

¥ gg

I @*m

e | e one 3R | N3EE|

(
(
(
&
4

L

]

®F (O7FTF)

(a7 rLk)

2,235mm
1,500mm
992mm

25.23m

B F— 8 (FEX0.35m)
FTAZ7TMbENV—T 4 722kgih
/v — FE— F ([EZ12mm)

T2

&l — b

WEHEH (ES 9m)

Wikt (75 A9 — ) 100mm (16kg/m’))

o720 A
HoZH)F—F (FE&12m)

WEMEHEN (/»H— FF— FE212m)
WrEEt (275 A — L 100mm (16kg/n'))

O &

- Bt =&

#HI=wvy7a—1) ¥ (E%18m)
{bEE 70— > 7 (E&120m)
Fovary7a07 (Ex2.3m)

E=)nsox
doZ ) K- F (EX12mm)
Brskt (75 A7 —L100m (16kg/nt))

WHE R RS (BEEF 7 A3-12-3)
T IFEBZEFT (20mEERHEEY 7 R)

BRBS (R, FuFY)

FRP/M2:81 680(W)x1,230(D) x2,228(H )mm
Ao 20, REKE

MU r— (3W6HW)
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% B (AR VR HE(F) (M) AFHE)
f1 7=y B 6 m 227,400
SRS 9mm (1,220%2,440mm) 214 1,700 35,700
WA 9mm (910X 1,820mm) 118 1,200 13,200
TIFA 1 2mm (910 1,820mm ) 3K 1,300 3,900
A= FH— F12mm (910%2,440mm) 124 600 7,200
oI 9 K= F12.5mm (910 1,820mm) 184 600 10,800
HoZ )K= F9.5mm (910%1,820mm) 1844 400 7,200
HFey 70— 2 18m 15m* 54,000
LB 70 —1) > 7 12m 10n? 54,000
W 244 16ke/ mi I 2 100nm 124 4,000 48,000
A1 57 SR 60,000
$7 40,000 561,400
53 6 133,500
F7 2 69,500
£ 1 120,000
=y bR 1 241,500
FoFr 1 70,000
LIRY - F—F 2 2,200
i 1 116,300 753,000
KL 850,000
RO T4 110,000
WA L3 100,000
SECHIE S g 120,000
ER 1% 180,000 1,360,000
Y- 1 830,000 830,000
a5 3,504,400
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